NCERT
SOLUTIONS

CLASS-7th

26



Book : Hindi Ncert Solutions | Chapter - 10 Hindi

Class : 7th

Subject : fewal

Chapter : 10
Chapter Name : 304 3{J4d

Q1 D! — T U4 R R Fg1 & o did I 7 31dh T o1 forar? fafau |
Answer.

gD - I did- = B B oT| gt =1 ) difer o7 3ifere a8 forddt U W Tt @ig
FehdT ATIAT 3R 7 8 forelt U8 13Ut fAsht Tufy AT o7 | 98 gER 9=l &l U8 R Igd
BU CTHR T g1 A SaNT gl UTISHDT BTl §GH & foTT 4T STATIYI B SHTH &
T dl - 99 1 99 US WR 9e & 3Yd YAy foar|

Page : 81 , Block Name : SIGK]

Q2. g [y 3R 31y UM ¥ Thadl UM & dle  didl- I 3R ! 9 & 3qd
3(gHa fArdT, 37 1 & 3Yd 3FHT TS 3IT- eI 1 aH! H F1-31 3feR Te? fafau|

Answer :

AT o S1G G o 3Yd SIHT T - e U [TH TR qrdl- I DI T g1 AT b 3
TH 3HHT B B! GHT IR 331 8 13 ARAT-AM P UG WR IGIHR Sitd b R Bl 3Hd
R T N 3R ! I A HH U 7 ot T A yor fF w e A st s W
W =g IopaT 8199 T i b ot fSge! S99 deuq o gt ot ot

Page : 81 , Block Name : U6 9 |

Q.3 U6 ¥ WS ¢RAU —

e YRS BT 1Y TYHI- 3R T -9 W TS 38T 4T, d H1 T § TReaR 81 38 3
3R Hd JGA BT UH THST 38 ST SHR HSda YU I T T AT 1310 & IR
UeR IR & Fea T 71 HRUT §l JhdT 872

Answer:

RS BT 1Y 3 R dd TS &1 4T | 99 dll- I 3R RS- T [aurs -digt & gRI
US i fgIar doh Ugd I8 ¥ | I1Gd BT gh el aid-sild U BT dich 35 d hedhdl §u o
1 TET T 576 TRl — A 37U G3) dTehd 9 ARD1-aF I U Bl SR Wid et 4t 39
UhR YRR Saei= BT HRU B AR a1 {3 & Ul Uopfd &t ggeaar &t upfa
a1t A1 fos Q1 9= 31U~ 37U Uy § o gl |
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Page : 81, Block Name : UG ¥ |

Q. 4TH- A B LIS RAGI HITE ......... 3ifer T YT 9 3R I B
HIFTY 3R ferage? FarsT for oRaes 3 T o ferar gl

Answer :

G - T ST foran ghm Fiifs U off It -9 diferat § difsa o1 oik 98 Wi U
R e | e T IgIRT 39T {1 arr -am A fodt & 9dTe for1 38 U WR g6 &1

Sifas Y=1 ol foman o1 (afe P 9871 390! 37 a1 Al 37! Sie Usdt iR YA IHT

g 3MRaR Hidpl g

Page : 81 , Block Name : e q |
U713 9 3T

Q 1. il T A U Ao &1 &g eifery fosur feran fob IH Siifed o1, Irgeht- o &
IR S &1 Jyramr &t 1R ot 39 091 1 Irgeh! 9 $lUs IR 9 Dl ge. 301 dfa
3R HAR TR F A= T 81 Sl 81 34 fhd g &1 Whadl & g g §ws7 3R
(S BT TN IR HER URYHA HRATABA ¢© |

Answers:

1 T U4 Bl & fog Hie afReym 3R gfe &1 oanT &3 fored &9 fordt & 98 WR
TRGRIEC A1 A 3R §H ofia- H 30 ded &I U & ol g ST 3R gfeg o1 ST
PP PSR UNRYH B I8 &

Page : 81 , Block Name : 16 4 31

Q. 2. BH PR TG &/ F9-88 HRAT! & IR H JAd I8d 8, Al *3qd S[IHT, HEH
TS ANCH SRTgH SR SR &t 3R HART &I Widdt 5| G SHTIHT 30+ U & TR
T B13 IAEABRY U U HRAT &1 dl v U HRaI?

Answer - BT T HY|

Page : 81 , Block Name : 1 I 3l

A 3R Pl
Q 1 3O AT ¥ Y A 9T ARl - I Bt AR Ara o) off 2
Answer

AT 7 3 1T | g S oT o5 98 TRGDT- I F ORI IGT 8 18R Y I Tt
I! Sie ISl [Safe a8 TRgH! - I &I U W g off et A I3 gt Tor =t
o

Page 2 of 3 Aglasem Schools


https://schools.aglasem.com/ncert/solutions/
https://schools.aglasem.com/ncert/ncert-solutions-class-7-hindi

Book : Hindi Ncert Solutions | Chapter - 10 Hindi
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Q2 TGS I S RIS FAFAT | ToRA aTal afekidl & T Te Iava @t ot &2
%ﬁm|wwwﬁwﬁﬁgﬁﬂﬁﬁ@ﬁﬁé|wgﬁwmmﬁ@
|

Answer

RG] I oI ARG FAITA! ¥ ToR- aldl SAfaadl TRHR - WHR] SRUdTal, $& A
qTeit SHTRT, WA, 3fife TR ITH! dg IaR- B! JfauTd UaH 31 5

Page : 82 , Block Name : 3H 3R &Hed1

HTST ! I

Q. 1. femmar weg fg 3R IRaT & AT A 91 B 1 g 1 3ref 3-af 3IR 2Ran o1 3nef - g1l
fe=IRaT U & o T a8 U 8 Sigl 9 &l Hic-AId) Siferl ve O Repard! €1 fg ot wifa
39 31 ¥ g1 Weg Apivr SiHd 8| 3 &1 8ref 8 i1 39 R, IR, T4, 38, 914,
3113, T 3R & HRHTaT! TP Ueg SUTANT H SHOR. I & | 37 ISATAT [eal Bl
SIFPRI U BT SR GRIT fob o1 51 Xsal b1 eal=ial Sidieht Tl & Al 4 $8-5S
ATl Sereht 5, oY — fedl-3iTs, Tpad-3fy, Siish-uel

Answer - BT 3T B |

Page : 82 , Block Name : HTYT D1 &Td

Q. 2. urd ¥ fafeara gam @i, Uie & ufdpar @it o arag 3Mu § | f3foarar gom &
AT BT 3T AT STHH T bl § | 31-31-31 89T TT 33T AR 541 Siararad o
AT 81T 8 | 379 B9 1 tafa & U W 3feTol ol g4 1 faRiwor &1 fgar man 3 | Iy &t
f3foarT 3R fHamT Weg H ST U &1 TART 311 § | 39 U ¥ fihea T Xeg +ft &9
STAT § | 3T g ¥ 994 ara IR 9o s farflu |

Answer -

dg + Sl = dgll

YR+ 3T = W]

Ug + 3T = UelT

el + HTHT = Tl
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